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201 LB-2d| 185,722 0 185,722
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01 At 22l 185,722 0 185,722
o= P 185,722
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= 18,396
= 12,877
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= 18,396
= 12,877
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01 At 22l 61,320 0 61,320
og=sy" 2Y 61,320
= 18,396
= 12,877
Al 30,047
HY2HZH (AN e at) 188,668 193,847 A5,179
ol A (AlRIHN S S 2) 102,784 106,271 A 3,487
olAR A (AlRICHM G 2t) 102,784 106,271 A 3,487
101 14l 102,784 106,271 A 3,487
01 2= 102,784 106,271 A 3,487
OAZA2RY 102,784
6= 11,0743 «4H «50A| 2t 128 26,578
/= 10,0033 *8H +50A| 2t 128 48,015
@3:= 8,980& x4 «50Al 2tx 12 21,552
o= 8, 173 x1H«50Al 2tx 1228 4,871
[ DS Falls] 101,014,200& *1.75% 1,768
Jl2dl (Aol oM etk at) 85,884 87,576 A 1,692
Jl2dHl (Aol oM ekt at) 85,884 87,576 A 1,692
201 £B-2%H| 56,484 56,376 108
01 At 22l 31,484 31,376 108
OBt~ 17,200
O= &l 11,584
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HEEsZE ANE2els" dE3 16,443 15,688 755
309 MEZ 16,443 15,688 755
01 SA- SHILEEZ 16,443 15,688 755
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